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=l 45,000
ALt 105,000
[ R AR ]
O AT HETAH(SHA)
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800,000,008 X 1Al 800,000
_0lmE BAL- £HE SaTo sEDA
500,000,002 X 1Al 500,000
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2 (200)MH2EXS
3 (230)REKARS
Mg (234) =2 EERED
HEC
2. 8. Mg = Of &k o ol Ao HDZ2
O SAIA HER 2 15,000,008 X 14l 15,000
401-03 (AIESCHHI) 44,810 41,782 3,028
ABl 4T D}
O 2GAE BA 11,876,000,0008 X 0.25/100 29,690
O L32 HSTA S 2,200,000,0008 X 0.36/100 7,920
oS A A
O aAsaEsTo HA &3 36,000,0002! X 1.08/100 432
O Sl WX We 24xy 50,000,000 X 0.72/100 3,600
O ZCME 2K W8 24 440,000,0002 X 0.72/100 3,168
235 JI X 861,984 302,718 559,266
401 A& HI 22 Ch| 861,984 302,718 559,266
401-01 (Al&HI) 855,000 300,000 555,000
oS A A
(XA AR
O L% 24AE DHANY(SLEI OHE 2 S)
100,000, 000! 5H 500,000
O DX 2H= XS5 A 100,000,00080 X 14! 100,000
O bR A242AIHOIE DX 40,000,000 X 234 80,000
O AHLAMOY MXESI TAH  2,000,0008 X 104 20,000
O S2F4R F42BD DF 20,000,0008 X 1Al 20,000
O 82X+ 0K AMEZ HSI| 0i
25,000,0008 X 1Al 25,000
O #2348 STH SYAIE DM 70,000,0002 X 1A 70,000
O Z2j4X WEA SYAIE &x  20,000,0002 X 14 20,000
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A : (235)01 A Z X ool AR
HEc
B8 Mg = 0l & 24 ol Ao SImE==}
O XAZ+E 25 BY &% 20,000,00080 X 14 20,000
401-03 (A& SCHE) 6,084 2,718 4,266
St A A
O L® S2AE DAY (SHED 0HE Y S)
500,000,002 X 0.72/100 3,600
O CIBK ANE RSs AL
10,000,0002 X 0.9/100 900
O b ® RAALAMOIE D
80,000,0002 X 0.9/100 720
O FABAMOE AXLSSI D
2,000,008 X 1.08/100 216
O 82343 :4+BIT 1N 20,000,000 X 1.08/100 216
O H2F4T BN ANED HSI| DA
25,000,0002 X 1.08/100 270
O #3B4+T STM SYAL DA
7,000,0002 X 0.9/100 630
O Z2WAX MBL SUAL &3
20,000,0002 X 1.08/100 216
O Xe=+T 25 2H &%
20,000,000 X 1.08/100 216
237 2J|RHIE 46,000 6,000 40,000
405 THIE SHIS 46,000 6,000 40,000
405-01 (RALSEZHSH|) 46,000 6,000 40,000
A+
O 348 428 I 7 400,0008 X 1CH 40,000
O AR HIE DH(HA, oX S) 400,0002 X 5 2,000
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250,000& X 494 1,000
O =2d2ds SAE2E 2L
3,000,000& X 10K 3,000
260 HIOtSEHIXHAF = 2,535,000 10,008,000 A7,473,000
261 A& S Aot 2,535,000 10,008,000 A7,473,000
403 ARHXIEHSAH=01A 2,535,000 10,008,000 A7,473,000
403-02 (S| 2SO0 CHEHR EALSHI) 2,535,000 10,008,000 A7,473,000
oot
O &2 JY|(Rgas-s SHSAIY)
2,535,000,000 X 1A 2,535,000
=S 1,267,000
CHl 380,000
AlH] 888,000
800 OlHlHl 141,455 143,837 A2,382
801 Gildlbl 141,455 143,837 N2,382
801 olBltl 141,455 143,837 A2,382
801-01 (Btoidibl) 141,455 143,837 N2,382
ot 1t
O &5 X204k gl 141,455,0008 X 14 141,455




